
PARALLAX   INSTALLATION GUIDE

What You’ll Need
•	 Slider (Note* 1st generation CineSliders are not compatible - contact support)
•	 Rail stop accessory (Fig. A)
•	 Parallax rail assembly (Fig. B)
•	 5/32” allen key (Fig. C)
•	 (2) 1/4”-20 custom countersunk screws (Fig. D)
•	 (2) 1/4”-20 countersunk screws (Fig. E)
•	 Parallax cart assembly (Fig. F)

Step 1
Snap rail stop accessory onto slider rail flush with end block on drag end

Step 2
Place Parallax rail underneath camera slider and line up to corresponding screw holes

Step 3
Use 2 included 1/4”-20 custom countersunk screws to secure Parallax rail to slider 
channels using larger (3/8”-16) screw holes with included 5/32” allen key

™

 Fig. B

 Fig. D    Fig. C  

 Fig. A



Step 4
Secure Parallax rail to slider center mount using included 1/4”-20 countersunk screws

Step 5
Loosen rail knobs and angle Parallax rail away from drag end of the slider

Step 6
Collapse Parallax cart towards bearing assembly and slide Parallax bearing assembly 
over the Parallax rail from the slider’s drag end

Step 7
Align bottom 3/8” stud of Parallax cart with hole on slider carriage as shown

 Fig. E

 Fig. F


